Segmented Discourse Representation Theory: A Closer View
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Eg.2.1

(2.1.a1)Tom beats Jane.
(2.1.a2)And she; cried.
(2.1.b1)Mary beat Tom.
(2.1.b2)And she; cried.
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E.g.2.1

I go to the bank.

Interpretion1: 3% J4RAT .

Interpretion2: 3% 27 /32
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Every one lives by a bank goes to another bank. it /E A #EH....2
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| don't go to the bank.
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[1 don't go to the bank.]™ = [~(l go to the bank)]™
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Every man has a book.

Tom is a man.

Then, Tom has a book.
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E.g.2.2 (Scope-ambiguity)

Every man has a book.

Interpretionl: Every(x, Man(x), Exist(y, Book(y), Has(x,y)))
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Interpretion2: Exist(x, Book(x), Every(y, Man(y), Has(y,x)))
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A)

Al. Jim fell.
A2. Itis blue.
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B1. Jim fell.

B2. He was knocked down by a car.
B3. It is blue.
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C1. Jim fell to the ground.

C2. He was knocked down by a car.

C3. Itis blue.
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